E@ Quarter 2 Milestones Review Extra Practice Name:

Monday Answers
1) 9,895 2) 24 3) 5 times as many as 8 is
X 6 x 13 1.
2.
3.
4) Is 46 a Prime(P) or a Composite(C) 5) Which choice is a factor of 39? 4.
number? A. 19 B. 18
C.9 D. 39 5
6.

6) Which number is a factor of 10, butnot 7) 6| 645
a multiple of 27

A5 B.8 7.
C.4 D.6
8.
9.
10.

8) John had 435 pieces of candy. If he split the candy into 5 bags with the same
amount of candy in each bag, how many pieces would each bag have in it?

9) For a fundraiser John earned four dollars. Isabel earned nine times as much as John
earned. How much did Isabel earn?

10) John was packing up his old toys. He has 27 toys to pack up and can fit 9 in each
box. How many boxes will he need?
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Quarter 2 Milestones Review Extra Practice Name:
Tuesday Answers
1) 6,442 2) 43 3) 4 times as many as 6 is
X 7 x 29

4) Is 17 a Prime(P) or a Composite(C)
number?

5) Which choice is not a factor of 90?
A7 B. 10
C.30 D.5

6) Which number is a factor of 21, butnot 7) ¢| 92 ()

a multiple of 7?
A.S

B.2
C. 4 D.3

8) Victor had 145 baseball cards in 5 binders. If each binder has the same number of
cards, how many cards are in each binder?

9) Victor collected twenty-four cans on Saturday and eight on Sunday for recycling.
Victor collected how many times more cans on Saturday than on Sunday?

10) An industrial machine can make 6 shirts every minute. How many shirts would it

have made in 9 minutes?

10.
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E:é—‘ Quarter 2 Milestones Review Extra Practice Name:

Wednesday Answers
1) 2,820 2) 51 3) 16is times as many as 8.
X 9 X 83 1.
2.
3.
4) Is 54 a Prime(P) or a Composite(C) 5) Which choice is a factor of 86? 4.
number? A. 12 B. 43
C.16 D.8
5.
6.

6) Which number is a factor of 18, butnot 7) | 289
a multiple of 27

A. 8 B.9 7.
C. 4 D.6
8.
9.
10.

8) An industrial machine made 276 shirts. If it made one minute to make 4 shirts, how
many minutes was it working?

9) There were twelve adults in line at a movie theater. That is six times the number of
children in line. How many children were in line?

10) Debby had to complete 3 pages of homework. Each page had 7 problems on it.
How many problems did she have to complete total?
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Quarter 2 Milestones Review Extra Practice Name:
Thursday Answers
1) 3,792 2) 53 3) 32is 4 times as many as
x 8 x 38 1.

4) Is 65 a Prime(P) or a Composite(C)
number?

5) Which choice is not a factor of 21?
A7 B.3
C.5 D. 21

6) Which number is a factor of 24, butnot 7) 5| 679

a multiple of 12?
A7

B.9
C.5 D.8

8) The ring toss game at the carnival made 760 dollars in 8 days. If they made the
same amount of money each day, how much did they make per day?

9) A movie theater sold twenty-eight tickets on Saturday and seven tickets on
Thursday. They sold how many times as many tickets on Saturday as they sold on

Thursday?

10) Maria was buying hand towels for her house. She bought 8 packs with each pack
having 5 towels in it. How many towels did she buy?

10.
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E@ Quarter 2 Milestones Review Extra Practice Name:

Friday
1) 1,165 2) 41 3) 24 is 4 times as many as
X 4 X 48

4) Is 43 a Prime(P) or a Composite(C) 5) Which choice is not a factor of 817
number? A.27 B. 81
C.10 D.3

6) Which number is a factor of 12, butnot 7) ¢| 493
a multiple of 4?
A.8 B. 10
C.6

8) A vase can hold 6 flowers. If a florist had 390 flowers, how many vases would she
need?

9) A store has fifty-six diet sodas, which is eight times the number of regular sodas
they have. How many regular sodas do they have?

10) Tiffany received 14 dollars for her birthday. Later she found some toys that cost 7
dollars each. How many of the toys could she buy?

10.

Answers

1-10 [90]80]70] 6050403020 10 0 |
www.CommonCoreSheets.com Page 5 of 5



E@ Quarter 2 Milestones Review Extra Practice Name:  Answer Key

Monday Answers
1) 9,895 2) 24 3) 5 times as many as 8is 40
X 6 x 13 1. 59,370
59,370 72
+240 2. 312
312
3, 40
4) Is 46 a Prime(P) or a Composite(C) 5) Which choice is a factor of 39? 4. C
number? A. 19 B. 18
C.9 D. 39 5 D
6. A
6) Which number is a factor of 10, butnot 7) 6| 645
a multlple of 27 _ 6 0 O 1 0 0 7 107 r3
A.S B.8 —
C.4 D. 6 45
_42 7 8 87
3
9 36
10, 3

8) John had 435 pieces of candy. If he split the candy into 5 bags with the same
amount of candy in each bag, how many pieces would each bag have in it?

9) For a fundraiser John earned four dollars. Isabel earned nine times as much as John
earned. How much did Isabel earn?

10) John was packing up his old toys. He has 27 toys to pack up and can fit 9 in each
box. How many boxes will he need?
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Eg Quarter 2 Milestones Review Extra Practice Name:  Answer Key

Tuesday Answers
1) 6,442 2) 43 3) 4 times as many as 6is 24
x 7 x 29 L 45,094
45,094 387
+860 2. 1,247
1,247
3. 24
4) Is 17 a Prime(P) or a Composite(C) 5) Which choice is not a factor of 90? 4. P
number? A.7 B. 10
C.30 D.5 5 A
6. D
6) Which number is a factor of 21, butnot 7) ¢| 92 ()
a multiple of 7? 600 100 7 153 12
A5 B.2 —
C.4 D.3 320
300 | 50 8 29
9 3
-18 3
2 10. 54

8) Victor had 145 baseball cards in 5 binders. If each binder has the same number of
cards, how many cards are in each binder?

9) Victor collected twenty-four cans on Saturday and eight on Sunday for recycling.
Victor collected how many times more cans on Saturday than on Sunday?

10) An industrial machine can make 6 shirts every minute. How many shirts would it
have made in 9 minutes?
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E@ Quarter 2 Milestones Review Extra Practice Name:  Answer Key

Wednesday Answers
1) 2,820 2) 51 3) 16is 2 times as many as §.
x 9 x 83 1 25,380
25,380 153
+4,080 2. 4,233
4,233
3. 2
4) Is 54 a Prime(P) or a Composite(C) 5) Which choice is a factor of 86? 4. C
number? A. 12 B. 43
C. 16 D.8 5 B
6. B
6) Which number is a factor of 18, butnot 7) | 289
a multlple of 27 _ 2 4 O 4 0 7 48 rl
A.8 B.9 —
C.4 D. 6 49
48 | 8 8 69
1
9 2
10. 21

8) An industrial machine made 276 shirts. If it made one minute to make 4 shirts, how
many minutes was it working?

9) There were twelve adults in line at a movie theater. That is six times the number of
children in line. How many children were in line?

10) Debby had to complete 3 pages of homework. Each page had 7 problems on it.
How many problems did she have to complete total?
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Eg Quarter 2 Milestones Review Extra Practice Name:  Answer Key

Thursday Answers
1) 3,792 2) 53 3) 32is4times as many as__ 8
x 8 x 38 1. 30,336
30,336 424
+1,590 2. 2,014
2,014
3. 8
4) Is 65 a Prime(P) or a Composite(C) 5) Which choice is not a factor of 21? 4. C
number? A.7 B.3
C.5 D. 21 5 C
6. D
6) Which number is a factor of 24, butnot 7) 5| 679
amultlple of 12? _500 1 00 7 135 r4
A7 B.9 —
C.5 D. 8 179
150 | 30 8 25
29
9 4
-25 5
4 10, 40

8) The ring toss game at the carnival made 760 dollars in 8 days. If they made the
same amount of money each day, how much did they make per day?

9) A movie theater sold twenty-eight tickets on Saturday and seven tickets on
Thursday. They sold how many times as many tickets on Saturday as they sold on
Thursday?

10) Maria was buying hand towels for her house. She bought 8 packs with each pack
having 5 towels in it. How many towels did she buy?
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E@ Quarter 2 Milestones Review Extra Practice Name:  Answer Key

Friday Answers
1) 1,165 2) 41 3) 24is 4 times asmany as 6
X 4 X 48 1. 4,660
4,660 328
+1,640 2. 1,968
1,968
3. 6
4) Is 43 a Prime(P) or a Composite(C) 5) Which choice is not a factor of 81? 4. P
number? A.27 B. 81
C. 10 D.3 5 C
6. C
6) Which number is a factor of 12, butnot 7) 6| 493
a multlple of 4? _ 4 8 O 8 0 7 82 rl
A. 8 B. 10 —
C.6 D.9 13
12 0 8. 65
1
9 7
10 2

8) A vase can hold 6 flowers. If a florist had 390 flowers, how many vases would she
need?

9) A store has fifty-six diet sodas, which is eight times the number of regular sodas
they have. How many regular sodas do they have?

10) Tiffany received 14 dollars for her birthday. Later she found some toys that cost 7
dollars each. How many of the toys could she buy?
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